
 
 

B.A 3rd Semester  Honours Examination, 2021(CBCS) 
Subject : Sociology 

Paper :CC5 

Sociology in India- I 
Time 3 Hours :                                                                                             Full Marks:60 

                        The figures in the right-hand margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable and  
                              upload answer sheets following University rules 
 
                                 দিϠণ ϕাоѸ সংখҝাვিল ϕেѨর পূণ κমান িনেদκশ কের ৷ 
পরীϠাথλেদর যথাসјব িনেজর ভাষায় উЫর িদেত হেব এবং িবѩিবদҝালেয়র িনয়ম অনুসরণ কের  
                                                 উЫরপϏ আপেলাড করেত হেব ৷ 

 
1. Answer any six of the following questions. Write each answer within 200 words.  6x5=30 
    িনɕিলিখত Łযেকােনা ছয়ǌ Ƽেɳর উȘর Łলখ ৷  Ƽিতǌ উȘর ২০০ শেяর মেধҝ িলখেত হেব ৷ 

a. Discuss the relation between sociology and social anthropology in India 
ভারেতর সমাজতȗ ও সামািজক নৃতেȗর মেধƦ সɘকű  আেলাচনা কর। 

b. How did Gandhi distinguish Indian civilization from the Western civilization? 

গাȻী কীভােব ভারতীয় সভƦতােক পাɰাতƦ সভƦতা Łথেক আলাদা কেরিছেলন? 

c. How did Swami Vivekananda propose social reforms through his central idea of 'moral 
values'? 

˷ামী িবেবকানȸ কীভােব তাঁর 'łনিতক মূলƦেবাধ'-এর Łকȷীয় ধারণার মাধƦেম সামািজক 
সংʅােরর Ƽʌাব িদেয়িছেলন? 

d. How did Swami Vivekananda's ethics inspire Gandhi?  Explain. 

˷ামী িবেবকানȸর নীিতেবাধ গাȻীেক িকভােব অনুƼািণত কেরিছল? বƦাখƦা কর। 

e. Why did Benoy Kumar Sarkar adopt an Indological perspective to understand Indian 
tradition? 
Łকন িবনয় ʢমার সরকার ভারতীয় ঐিতহƦ Łবাঝার জনƦ ভারততȗবাদী ̼িɺভিǰ অবল˟ন 
কেরিছেলন? 

 

 



 

f. What did Benoy Kumar Sarkar mean by creative disequilibrium?  

িবনয় ʢমার সরকার সৃজনশীল ভারসামƦহীনতা বলেত কী বুিঝেয়েছন? 

g. How did Radhakamal Mukerjee explain the values of universal civilization? 

রাধাকমল মুখািজű  িকভােব সাবűজনীন সভƦতার মূলƦেবাধ বƦাখƦা কেরেছন? 

h. Explain Radhakamal Mukerjee’s ideas about ecology in short. 
বাˬশাʊ সɘেকű  রাধাকমল মুখািজű র ধারণা সংেǟেপ বƦাখƦা কর। 

2. Answer any three of the following questions. Write each answer within 400 words. 
        3x10=30                

িনɕিলিখত Łযেকােনা িতনǌ  Ƽেɳর উȘর Łলখ ৷  Ƽিতǌ উȘর ৪০০ শেɍর মেধƦ িলখেত 
হেব ৷ 

a. How did Indian sociology get influenced by colonialism and Indology? Elaborate. 

িকভােব ভারতীয় সমাজতȗ, ঔপিনেবিশকতা এবং ভারততȗবাদ ʿারা Ƽভািবত 

হেয়িছল? িবশদভােব আেলাচনা কর। 

b. Explain Rabindranath Tagore's approach to Nationalism. 
জাতীয়তাবাদ সɘেকű  রবীȷনাথ ঠাʢেরর ̼িɺভিǰ বƦাখƦা কর। 

c. Examine the dominant principle of Gandhian philosophy. 

গাȻীবাদী দশűেনর Ƽধান নীিত পরীǟা কর। 

d. Discuss the major contributions of Benoy Kumar Sarkar to the development of Indian 
Sociology. 

ভারতীয় সমাজতেȗর িবকােশ িবনয় ʢমার সরকােরর Ƽধান অবদান ʦেলা আেলাচনা 
কর। 

e. In what way did Radhakamal Mukerjee establish a link between Indian tradition and 
civilization? 

রাধাকমল মুখািজű  Łকান উপােয় ভারতীয় ঐিতহƦ এবং সভƦতার মেধƦ একǌ সংেযাগ 
ʍাপন কেরিছেলন? 

 
_________________________ 

 


